201 9%E $26E HMIURISITI-—R (U-15) Yyh—EFiE

(TL—A7T]

£ 5 BT v h—1 | & = JA—5
B R xt B &l =
4H27H 9:45 C J4—J+ 10 [—] 0 | THELIA—L JH—F TILTY—"T+
(1) 11:20 | C FILIR—5 2 |—| 3 INLUTAT S 274=0V) TavhkR
12:55 | PI JH—F 0-0(PK3—5) | ZILTV—"J+ Ja—rJA+ IHEILI+—L
14:30 [P1| 3350wy | 6 || 3 SaVbR FAIR=5 | NLUFAF

4/27(x) TL—AT(CEFIDIES > AQ®  MhiEiBES& > BO

[(REFSD >

K]

& B AR R—Y 2 a— | & = ~AO—5
B * B &l =
48308 | 10:00 | ¢ | 7Zi=HK—5 1 [—] 7 Ro—-5 NLUTAT | TORLIA—L
(K) 11:35 | C INLUTAT 9 |—| 0 | TVELIF—L | FTILIE—F _Oo—-3
- BRI Y yh—i5 B E Ja—JF
B FH xt B &l =
5A1H 9:45 A vy 5 |—| 0 | ZITU—"TJ% INLUTAT Ja—J%
(7K) 11:30 | C INLUTAT 1 [—] 3 Ja—JF+ Ly FILT)—"T4
13:05 | A HhF)—=3 3 |— 1 =55 0avyY JH—7 F7RA—IL
14:50 | B JH—F 2 |—] 1 F7X—)L HAF)—=3 57avyY
= 15 AR R—Y 52— B B ~ao—-3
B xt B &l =
582H 10:00 | B 7 |—| 2 BEFC IOEILI+—L g—-3
(K) 11:35 | ¢ | Tt +—L ]| 0 |—| 20 Ao—3 TavkR BEFC
& 15 B R—YE 52— E B DavhRJH—F
B FH xt B &l =
5H4H 10:00 | C | THELYF—L| 1 [—| 16 FILIHR—S TavhR JH—F
(+) 11:35 | B i 3 [—| 4 sH—F | zoensr—L| FueR—s
- BT H Y h—15 E E Ja—J+
B *f B &l =
5H6H 9:45 A HF—=13 3 |—| 2 | ZLTFU—T% Ja—J+ FILIR—5
(A 11:30 | C JA—J* 6 |—| 4 FILIR—S hFH)—=3 FILTU—"T+
13:05 | A Ly 5 |[—| o =S5 Ay DavkR FTRA—IL
14:50 | B _ 3 |—| 5 FRX—IL tLyy =545 AavyY
= B BILURR—Y+E 42— B OB ~Oo—3
B FH pu B &l =
5A6H 10:00 | C Ao—-3 2 |—| o INLUTAT JH—7 BmFC
(A) 11:35 | B JH—F 6 [—] O #BrFC Ao—3 INLUTAT
- T Yy h—15 E E Ja—JF
B M *f B &l =
58118 9:45 C _Oo—-5 — Ja—J+ 35 AvY TILTY—"T+
() 11:20 | B 7RX—IL — EEFC Ly HhF)—=3
13:05 | A =35 AvY — TILTU—"T+ AA—-3 JAa—JF+
14:50 | A Ly — AF)—=3 FRX—)L HEEFC




